—

98—CURRENT GMC H.D. STANDARD CAB DIENS

[moLs SERRE: 5/16° ORLL o 1/7 HEX SOOKET o 1/Z WRENO{ « /1€ MNJT DRVER * 3/8 wuT OWER |

® MEASURE FROM FRONT WHEEL WELL TO ERACKET LOCATION
WARK THIS DMENSION ON THE PWINCH WELD

(DRVERS SIDE SHOWN)

NSTALL CAP_TO BOARD
WITH SELF TAPPWNG BOLT

® I ;

BRACKET ASSEMBLY
ASSEMBLE WITH S/16° BOLTS

[
[ ———

STONE GUARD 1 LEFT & 1 RIGHT

3/8x1 SELF TAPPIND SCREW
F14x3/8 TEX SCFREW

1/45/6 SQUARE HEAD SCREW

1/4-20 HEX NUT

$/16°x 3/4 WASMER HEAD BOLT
5/16-18 HEX WADER MEAD NUT
FUAT BRAOET, ALO7

HORZONTAL BRAOET, SUPPORT, 3124F

Choose reliable running boards offered on our website.



https://www.carid.com/owens/
https://www.carid.com/running-boards.html

